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// Proble

module lo
input [
output
reg [1

assign

assign
endmodule

// Proble

module toMartian (in, led);

input |
output
reg [7:

assign
assign

assign
assign
assign
assign
assign

fol)

endmodule

// Proble

m 1, part b

wBit (I, O);

3:1] I;
[1:0] O;

:01 O;

O[1]
of[o0]

I[1]

m 2, part b

3:0] in;
[7:1] led;
1] led;

led (7]
led (6]

in

uon

led [5]
led [4]
led [3]
led[2]
led [1]

[ [ S (O 1}

m 3, part d

(T3]

(~in[3]

(in[2]

| (1131

| T12]1) & (~I[1]);
&I [2]);

[31 | (in(2] & in(1] & inf(o0l);

& in[2])

(~in{3] & in{0])

(~in [3]

module changeMe (ing, ind,

input [
input |
input [
input g
output
output
output
output
reg [2
reg [3:
reg [4
reg nc;

integer

always @ (ing or ind or inmn) begin

begin
for
N

2:0]1 ing;
3:0] ind;
4:0] inn;
o;

[2:0] outl;
[3:0] outd;
[4:0] outn;
nc;

:0] outq, q;

0] outd, d;

:0}] outn, n;

i, 3, k;

find change

(1 = ing;
or (3 = ind;

i >= 0;

i >=

& in[1)] & in[01);

inn,

i
0;

“for (k= inn; k >= 0
AAE {(ing*25) +

nc <=

1b'Q;

q <= i; d <=

disable find_

Y

& in(1])
(~in[3] & inf2])
(~in[3] & in[2])
(~in[3] & in[2])

outq,

(in[3] &

-in[2])

| (in[2] & ~in[1

| (~in[3] & in[1]) | (in[1]

(in[3] &

(in[3] & -in[2] & ~in ) ;
(in[3] & ~in[2] & ~imAT11)

~in[2]

outd, outn, nc,

1) begin-
-1} beg
(inn*5)

h <="k;
change; '

in

= 100)

& in[1])

go) ;

begin

{~in[3] & in[2] & inf0}) | (~in[3] & in[2] & in
(in[3] & ~in[2] & ~in[1] &

|

&

(in[3]

& ~in(2] & -~in
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end
end
end
end
end
end

always @ (posedge go) begin

outq <= q;
outd <= d;
outn <= n;
end
endmodule

h
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